Zadatak 2.

RjeSenje.

Dokazi dazalinearnu funkciju f (x) = ax+ b terealnebrojeve ky i kp takve
daje kq + ko # 0 vrijedi:
1) f(kixg + koxo) = Kif (x1) + Kof (X2)

— Kk + ko =1;

2 f (k1X1 + kzxz) _ kaf (1) +lof (x)
ki + ko ki + ko

1) f (kpxq + koxo) = a(kixg + koxo) + b;

kaf (x1) +kof (X2) = akyxg +kib+ akoxo +kob = akyxg 4+ akoxo +b(ky + ko) ;
a(kixy + koxo) + b = akixq + akoxo + b(ky + ko) < b= b(ky + kp)

<— 1=k +ko.

2)

f (klxl + k2X2) _ ak]_Xl + koxo b— akyx1 + bky + akoxo + bko

ki + ko ki + ko ki + ko
ki(axy +b) +ko(axo +b)  kqf (x1) + kof (x0)
ki + ko a ki+k






